
PHONE ORDERS
Monday - Friday
9:00 AM - 5:00 PM EST
Click for TOLL-FREE Number

BUY ONLINE

(800) 209-9624 | HOME | CONTACT | SHIPPING | RETURNS | CART

Part Number Search

Shop by engine/drive part number.
Original & matching parts for sale.

Manuals & Accessories

Shop by description, item number
or manufacturer's model number.

Why Us & Reviews Boat Repair Forum Video Gallery

Parts for Mercury Marine 7.5 HP DRIVE SHAFT HOUSING ASSEMBLY

Revise Search: Start Over > Different Engine Model > Different Serial Number Range > Different Component

YOU ARE HERE: MERCURY > 7.5 HP > 3801458 THRU 4851692 (USA) > DRIVE SHAFT HOUSING ASSEMBLY
« Previous | Next »

Reference numbers in this diagram can be found in a light blue row below — scroll down to order.
Each product listed is an OEM or aftermarket equivalent part. [ Example ]

Reference numbers in this diagram can be found in a light blue row below — scroll down to order.
Each product listed is an OEM or aftermarket equivalent part. [ Example ]

Ref. No. Part No. Description Manufacturer List Price Your Price Order

#1
1556-4901A 

2
DRIVE SHAFT HOUSING ASSEMBLY(SHORT SHAFT) (1 required per assembly)
UNITED STATES 3801458 THRU 4314384 AUSTRALIA 8015315 THRU 8035569 BELGIUM
9043194 THRU 9102613 CANADA 7028598 THRU 7065472

 1556-4901A 2 DRIVE SHAFT HSG O - Replaced by
1556-5945A 2
(more info)

Unavailable

 1556-5945A 2 DRIVE SHAFT HSG O - Replaced by
1556-8451A 1
(more info)

Unavailable

BOAT ENGINE PARTS BOAT MOTOR MANUALS BOAT ACCESSORIES

Mercury Marine 7.5 HP DRIVE SHAFT HOUSING ASSEMBLY Parts http://www.marineengine.com/parts/mercury-outboard-parts/75/3801458...

1 of 6 7/18/2015 11:36 PM



Ref. No. Part No. Description Manufacturer List Price Your Price Order

 1556-8451A 1 1556-8451A 1 - Drive Shaft Housing, 
NLA (more info)

$220.00 $220.00
1 in stock.

#1
1558-4902A 

2
DRIVE SHAFT HOUSING ASSEMBLY(LONG SHAFT) (1 required per assembly)
UNITED STATES 3801458 THRU 4314384 AUSTRALIA 8015315 THRU 8035569 BELGIUM
9043194 THRU 9102613 CANADA 7028598 THRU 7065472

 1558-4902A 2 DRIVE SHAFT HSG O NLA
(more info)

Unavailable

#2
16-66373 STUD, DRIVE SHAFT HOUSING TO GEAR HOUSING (2 5/16") (1 required per assembly)

UNITED STATES 3801458 THRU 4314384 AUSTRALIA 8015315 THRU 8035569 BELGIUM
9043194 THRU 9102613 CANADA 7028598 THRU 7065472

 16-66373 STUD O NLA
(more info)

Unavailable

#1
1556-5945A 

2
DRIVE SHAFT HOUSING ASSEMBLY(SHORT SHAFT) (1 required per assembly)
UNITED STATES 4314385 AND UP AUSTRALIA 8035570 AND UP BELGIUM 9102614 AND
UP CANADA 7065473 AND UP

 1556-5945A 2 DRIVE SHAFT HSG O - Replaced by
1556-8451A 1
(more info)

Unavailable

 1556-8451A 1 1556-8451A 1 - Drive Shaft Housing, 
NLA (more info)

$220.00 $220.00
1 in stock.

#1
1558-5946A 

3
DRIVE SHAFT HOUSING ASSEMBLY(LONG SHAFT) (1 required per assembly)
UNITED STATES 4314385 AND UP AUSTRALIA 8035570 AND UP BELGIUM 9102614 AND
UP CANADA 7065473 AND UP

 1558-5946A 3 DRIVE SHAFT HSG O - Replaced by
1558-8453A 1
(more info)

Unavailable

 1558-8453A 1 DRIVE SHAFT HSG O NLA
(more info)

Unavailable

#3 11-34863 NUT, DRIVE SHAFT HOUSING STUD (3/8 - 24) (1 required per assembly)

 11-34863 NUT @3 O - Replaced by
11-826709113
(more info)

Unavailable

11-826709113
11-826709113 - Nut -ss - Priced 
Individually (more info)

$5.00 $5.00
9 in stock.

#4 11-35814 NUT, GEAR HOUSING TO DRIVE SHAFT HOUSING STUD (5/16 - 14) (1 required per
assembly)

 11-35814 NUT @5 O - Replaced by 11-826709
11
(more info)

Unavailable

 11-826709 11 11-826709 11 - Nut - Priced 
individually (more info)

$3.60 $3.60 Available to
order:
Usually ships
within 8 days

#5
65518 COVER, TRIM - DRIVE SHAFT HOUSING (1 required per assembly)

UNITED STATES 3801458 THRU 4131609 AUSTRALIA 8015315 THRU 8028839 BELGIUM
9043194 THRU 9079488 CANADA 7028598 THRU 7050207

 65518 COVER O - Replaced by -72471
(more info)

Unavailable

 72471 72471 - Over, NLA (more info) $24.00 $24.00
2 in stock.

#5
72471 COVER, TRIM - DRIVE SHAFT HOUSING (1 required per assembly)

UNITED STATES 4131610 AND UP AUSTRALIA 8028840 AND UP BELGIUM 9079489 AND
UP CANADA 7050208 AND UP

Mercury Marine 7.5 HP DRIVE SHAFT HOUSING ASSEMBLY Parts http://www.marineengine.com/parts/mercury-outboard-parts/75/3801458...

2 of 6 7/18/2015 11:36 PM



Ref. No. Part No. Description Manufacturer List Price Your Price Order

 72471 72471 - Over, NLA (more info) $24.00 $24.00
2 in stock.

#6 10-64652 SCREW, TRIM COVER TO BOTTOM COWL (1/2") (4 required per assembly)

 10-64652 10-64652 - Screw, NLA (more info) $1.35 $1.35
7 in stock.

#7 32-34395A 1 HOSE, TELL TALE (9 1/2") (1 required per assembly)

 32-34395A 1 HOSE ASSY O - Replaced by
32-99127109
(more info)

Unavailable

 32-99127109 TUBING-57 INCH O - Replaced by
32-830756109
(more info)

Unavailable

32-830756109
HOSE-57 INCH O - Replaced by
32-8M0047428
(more info)

Unavailable

32-8M0047428
32-8M0047428 - Hose -57 INCH (more 
info)

$43.90 $37.59
1 in stock.

#8 32-39061 TUBE, WATER OUTLET(SHORT SHAFT) (1 required per assembly)

 32-39061 TUBING O
(more info)

Unavailable

#8 32-39062 TUBE, WATER OUTLET(LONG SHAFT) (1 required per assembly)

 32-39062 TUBING O NLA
(more info)

Unavailable

#9 10-28634 SCREW, FLUSH - DRIVE SHAFT HOUSING (1 required per assembly)

 10-28634 SCREW @5 O - Replaced by 10-79953
(more info)

Unavailable

 10-79953 SCREW @5 O - Replaced by
10-79953A 2
(more info)

Unavailable

 10-79953A 2 SCREW KIT-DRAIN O - Replaced by
10-79953Q 2
(more info)

Unavailable

 10-79953Q 2 SCREW KIT @2 O - Replaced by
10-79953Q04
(more info)

Unavailable

 10-79953Q04 10-79953Q04 - Screw Kit - Priced 
Individually (more info)

$5.60 $5.60
10+ in stock.

 18-2244 18-2244 - Plug Kit, 10-79953A2 (more 
info)

$2.91 $1.95
10+ in stock.

 10-79953K04 10-79953K04 - Screw - Drain - Priced 
Individually (more info)

$5.60 $5.60
7 in stock.

#10 12-20260 WASHER, SEALING - FLUSH SCREW (1 required per assembly)

 12-20260 WASHER @15 O - Replaced by
12-19183
(more info)

Unavailable

 12-19183 WASHER-BLK @15 O - Replaced by
12-19183 2
(more info)

Unavailable

 12-19183  2 WASHER-ORAN @15 O - Replaced by
12-19183 3 Unavailable

Mercury Marine 7.5 HP DRIVE SHAFT HOUSING ASSEMBLY Parts http://www.marineengine.com/parts/mercury-outboard-parts/75/3801458...

3 of 6 7/18/2015 11:36 PM



Ref. No. Part No. Description Manufacturer List Price Your Price Order

(more info)

 12-19183 3 12-19183 3 - Seal -blue - Priced 
Individually (more info)

$0.94 $0.94
10+ in stock.

 18-2945-9
18-2945-9 - Gasket 12-19183 2-Pack
(more info)
Replaces OEM #0307552 

$2.50 $1.48
10+ in stock.

#11 27-39050 GASKET, ADAPTOR PLATE TO DRIVE SHAFT HOUSING (1 required per assembly)

 27-39050 27-39050 - Gasket - Priced 
individually (more info)

$5.90 $5.90
10+ in stock.

#12 11-24652 NUT, DRIVE SHAFT HOUSING TO POWERHEAD STUDS (4 required per assembly)

 11-24652 11-24652 - Nut - Priced individually
(more info) $1.20 $1.20

10+ in stock.

#13 47259A 1 BLOCK ASSEMBLY, DRIVE SHAFT LONG SHAFT (1 required per assembly)

 47259A 1 47259A 1 - Block Assembly, NLA (more 
info)

$7.50 $7.50
9 in stock.

#14 10-47225 SCREW, BLOCK TO DRIVE SHAFT HSG. (1 1/4") LONG SHAFT (2 required per assembly)

 10-47225 10-47225 - Screw, NLA (more info) $1.25 $1.25
10+ in stock.

#15
1559-4917 SADDLE (1 required per assembly)

UNITED STATES 3801458 THRU 4314384 AUSTRALIA 8015315 THRU 8035569 BELGIUM
9043194 THRU 9102613 CANADA 7028598 THRU 7065472

 1559-4917 SADDLE O - Replaced by 1559-5968
(more info)

Unavailable

 1559-5968 SADDLE O - Replaced by 1559-5968A
1
(more info)

Unavailable

 1559-5968A 1 SADDLE ASSY O - Replaced by
1559-6678A 1
(more info)

Unavailable

 1559-6678A 1 SADDLE O - Replaced by 1559-7538A
1
(more info)

Unavailable

 1559-7538A 1 SADDLE ASSY O - Replaced by
1559-8448A 2
(more info)

Unavailable

 1559-8448A 2 SADDLE O NLA
(more info)

Unavailable

#15
1559-5968A 

1
SADDLE ASSEMBLY (1 required per assembly)
UNITED STATES 4314385 AND UP AUSTRALIA 8035570 AND UP BELGIUM 9102614 AND
UP CANADA 7065473 AND UP

 1559-5968A 1 SADDLE ASSY O - Replaced by
1559-6678A 1
(more info)

Unavailable

 1559-6678A 1 SADDLE O - Replaced by 1559-7538A
1
(more info)

Unavailable

 1559-7538A 1 SADDLE ASSY O - Replaced by
1559-8448A 2
(more info)

Unavailable

Mercury Marine 7.5 HP DRIVE SHAFT HOUSING ASSEMBLY Parts http://www.marineengine.com/parts/mercury-outboard-parts/75/3801458...

4 of 6 7/18/2015 11:36 PM



Ref. No. Part No. Description Manufacturer List Price Your Price Order

 1559-8448A 2 SADDLE O NLA
(more info)

Unavailable

#16 64076 BUMPER, THRUST - SADDLE (1 required per assembly)

 64076 64076 - Bumper, NLA (more info) $3.00 $3.00
3 in stock.

#17
30646A 2 MOUNT ASSEMBLY (LOWER AND UPPER) (4 required per assembly)

FOR MERC 110L LONG SHAFT ENGINES, REPLACE 2 LOWER MOUNT ASSEMBLIES
(A-30646A2) WITH 2 A-30646A3

 30646A 2 MOUNT ASSY @3 O - Replaced by
-77754
(more info)

Unavailable

 77754 MOUNT @2 O - Replaced by -79896A
1
(more info)

Unavailable

 79896A 1 MOUNT ASSY O NLA
(more info)

Unavailable

#18 53-26406 RING, RETAINING - UPPER AND LOWER MOUNT (4 required per assembly)

 53-26406 53-26406 - Snap Ring - Priced 
individually (more info)

$2.50 $2.50
5 in stock.

 994-6406 994-6406 - Retainer (snap Ring) (more 
info)

$5.99 $3.92
1 in stock.

#19
53041 COVER, LOWER MOUNT (2 required per assembly)

UNITED STATES 3801458 THRU 4131609 AUSTRALIA 8015315 THRU 8028839 BELGIUM
9043194 THRU 9079488 CANADA 7028598 THRU 7050207

 53041 COVER O - Replaced by -71490
(more info)

Unavailable

 71490 71490 - Cover, NLA (more info) $9.00 $9.00
10+ in stock.

#19
71490 COVER, LOWER MOUNT (2 required per assembly)

UNITED STATES 4131610 AND UP AUSTRALIA 8028840 AND UP BELGIUM 9079489 AND
UP CANADA 7050208 AND UP

 71490 71490 - Cover, NLA (more info) $9.00 $9.00
10+ in stock.

#20 10-45817 SCREW, LOWER MOUNT COVER TO MOUNT (7/16") (2 required per assembly)

 10-45817 10-45817 - Screw - Priced 
individually (more info)

$1.25 $1.25
10+ in stock.

#21
71057 LINK ROD, REVERSE LOCK (1 required per assembly)

UNITED STATES 3801458 THRU 4131609 AUSTRALIA 8015315 THRU 8028839 BELGIUM
9043194 THRU 9079488 CANADA 7028598 THRU 7050207

 71057 ROD O NLA
(more info)

Unavailable

#22 10-65414 SCREW, CAM RETAINER TO DRIVE SHAFT HOUSING (3/4") (2 required per assembly)

 10-65414 10-65414 - Screw, NLA (more info) $1.35 $1.35
10+ in stock.

#23 65216 CAM, REVERSE LOCK (1 required per assembly)

 65216 CAM O NLA
(more info)

Unavailable

Mercury Marine 7.5 HP DRIVE SHAFT HOUSING ASSEMBLY Parts http://www.marineengine.com/parts/mercury-outboard-parts/75/3801458...

5 of 6 7/18/2015 11:36 PM



Ref. No. Part No. Description Manufacturer List Price Your Price Order

#24
61008 RETAINER, REVERSE LOCK CAM (1 required per assembly)

UNITED STATES 3801458 THRU 4131609 AUSTRALIA 8015315 THRU 8028839 BELGIUM
9043194 THRU 9079488 CANADA 7028598 THRU 7050207

 61008 GUIDE O - Replaced by -72007
(more info)

Unavailable

 72007 72007 - Guide, NLA (more info) $8.00 $8.00
10+ in stock.

#24
72007 RETAINER, REVERSE LOCK CAM (1 required per assembly)

UNITED STATES 4131610 AND UP AUSTRALIA 8028840 AND UP BELGIUM 9079489 AND
UP CANADA 7050208 AND UP

 72007 72007 - Guide, NLA (more info) $8.00 $8.00
10+ in stock.

Revise Search: Start Over > Different Engine Model > Different Serial Number Range > Different Component

YOU ARE HERE: MERCURY > 7.5 HP > 3801458 THRU 4851692 (USA) > DRIVE SHAFT HOUSING ASSEMBLY
« Previous | Next »

Subscribe to the MarineEngine.com Newsletter
Periodically we'll send you Tech Tips, How-To's and Boating Information.
Just enter your e-mail address and click Subscribe!

You can easily unsubscribe from the newsletter at any time.

Why Us & Reviews Boat Repair Forum Video Gallery HOME | CONTACT | SHIPPING | RETURNS | CART

Boat Engine PartsBoat Motor ManualsBoat Accessories

About Us | Terms of Use | Privacy Policy MarineEngine.com, 184 Jones Drive, Brandon, VT 05733 USA

© 2015 MarineEngine.com, Inc. All rights reserved. Phone: 802-247-4700 |  Fax: 802-419-3055 |  eMail: info@marineengine.com

Mercury Marine 7.5 HP DRIVE SHAFT HOUSING ASSEMBLY Parts http://www.marineengine.com/parts/mercury-outboard-parts/75/3801458...

6 of 6 7/18/2015 11:36 PM


